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���ก�$ก���.�	�ก5� ก�$ก���.� node 1#�1�������	2+�2ก#./���1�#��		6�/
.1#������ ก ���06���
.+78�� ����
ก�$ก���1#�
���ก�� �
 �9+�20��:��"3#0����1������#��������20�
/���$��-������;��#�$��ก��!	� /�����<�ก��
�6������ก����.�9��9ก1
*� #�ก��!	� �+,�ก�-�5;ก=� ��<�ก���6����>;3�������0
��
�<:ก
.ก�2.��ก��!	� 1�������	2
����0
��
�<:1#���	����<�ก���6����06���
.ก��/6�����
���ก����*  �������$
���*4/��0�#ก�$ก�����30�����/6��������
#������+�20��<����>;3�+�2ก#./��� 1������1#� PERT &CPM 
/����ก�$ก���.�	�ก5��	2ก�$ก���.� node �+,�
�	
ก06��
8 �	2ก����.�9�
/����1������ PERT &CPM ก�$ก���.�	�ก5� �	2ก�$ก���.� node �����"3#���#�ก�3�4�� 
�.����������$2�+,���3
���ก��$2�	���0�?$ 50 �
� ���������ก
. 99.63% �	2����.�3���.��� �B��1#�
���ก��#�����3 1.863  
������� !: ���"3#���#�ก�3�4�� ก��.�����
���ก�� 1������ก�$ก���  ������ก��+�2����!	�	2�.���
���ก�� �0�����
��กD  

 
ABSTRACT 

  This research consider The project management of constructions activities network in  
production process of wood split machine by activity on arrow (AOA), activity on node (AON) 
networks and  accompanying data for different ordered of project scheduling problems the objective is 
to construct  suitable networks which desirability  products of the works methods used to control the 
production of a case study. The works methods which are related to the network production process 
and resource-related works methods are implemented. The proposed activities can be implemented 
efficiently and integrated with the traditional main focus of PERT &CPM by AOA and AON 
respectively. Therefore we could conclude that the controlling of production using PERT &CPM by 
AOA and AON in wood split machine, The probability finish of project is 50 day, equal value to 99.63 
% and standard deviation of project is 1.863. 
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1. �"��� 
+�2��54���+,�+�2��5��#��"*� /
��
*�$;����"�

���-1;*���ก����	�����/������E��"����-��	����*
#�$/�0�������"3#4/��
.�*6���3#9/�0�.��-:� �����������
��#��"����-��	����*ก	
.0	
/�.��*��6��������0�����
�
*���/4+ก�3��	2�.��3�������3����	���
*�ก?�����	��	�0��
�"*�/���6����ก	���+,�1�2��	E#��#����1��$2ก	���+,�
+9F� �#4+ 0�3���	����* �"# ����0�/9	1#�<����� � � ��"�
���-��3#��� ����"#���8� ��"3#0	
/�.��* � �0�?$�	��$2
ก	���+,�1�2��	E#�����ก
� � �1�2��	����*4��4/�����	���
ก����#�0	�����"#�#��� ��<����� �   ����2����������.
1#���"#���8� ��<��/�����3$2ก6�$
/���1�2��	����*���4+#����
��/��?��
3��"# ก���!� >;3�$2�6�����ก�/+78���	��= ����
����	
��������+,�$����	���
�����<�#"3���ก��ก6�$
/1�2
��	����*>;3�$2�����������0�/9	1#�<����� ��
*� ก��
0�������"3#���#�ก�3�4�� ��"3# �#�ก������1$
/1�2��	E#� 

/��G��2�5=�.4�� ���H �+�0����+,�+9F���
ก��"#�6�
ก	
.4+����������+�	
��/���  �#4+ �+,� �� 

/
��
*� �����$
���*$;���������/��3$2/6�����
���ก��
0����1������ก�$ก���ก��!	� �����"3#���#�ก�3�4��
/����
���"#1���ก�$ก���/��� PERT & CPM 
/���� AOA, 

AON �	2�6���-���0�������กD  (critical path) ����
��ก�2.��ก��!	� �����+�20��<������ก��3�1;*� 
1.1 �����%&�����	 PERT '�� CPM 

PERT �
I��1;*���"3# �.5. 2501 
/�ก#��
���"#
0��
B����ก
. .�> �#	�	� �	2 �J��	 
� (Booz Allen 

and Hamilton)  �	2 	?#กJ�/ �#�:���K : (Lockheed 

Aircraft) ��"3#�����ก��.�����
���ก��1�+���9<
�	���0 
(Polaris) >;3��+,�
���ก��1��/��8� +�2ก#./���
!���
.�������� (subcontractor) ��กก��� 9,000 ��� 
	
ก=-21#�
���ก���+,�ก����$
��	2�
I�� �	2��ก��
!	� 0���+�2ก#.����H >;3�4�������!���/!	� ��ก�#� 

/
��
*�ก��+�2��-�2�2��	���ก��/6�����ก�� ���H ��

���ก�� $;�4��0�����ก6���/	�4+4/�����#�  �� 
� 

$6� �+,� �#��6� �#����������/1#��������$2�+,� 

(probability concept) �1����+�2ก#./��� $;�#�$ก	���
4/���� $9/�/��1#� PERT �"# ก��0������6�4+���ก
.

���ก����3����	�/6��������4������#� 0��� CPM 

�
I��1;*���"3# �.5. 2500 
/� �$.#�. ��		� (J.E. Kelly) 

����.��=
������ 
� ���/: (Remington Rand) ����ก
. 
�#?�. #��:. �#	:ก�ก#�: (M.R. Walker) ����.��=
�/�+#� : 
(DuPont) ��"3#�����
���ก��ก�#0�����	2>�#�.6��9�
���"3#�$
ก���
��������� 
/�������/���ก������!��	2
��.�9���	�  	#/$�������$���
���ก�� CPM �
ก$2
�6�4+���ก
.
���ก����3!��.����������+�20.ก��-:��ก�#�
�	20�����+�2��-��	�����
* ��� ����$� ����ก��
/6��������1#�
���ก��4/�����#� [1]  

����'�ก���	������	 PERT '�� CPM 1�#
� ก ����
/�$��2����� PERT �	2 CPM �"# ��	���
ก���6�ก�$ก��� ก	����"# ��	���ก���6�ก�$ก���1#� 
PERT $2�+,���	�
/�+�2��->;3��6���-4/�/���ก�����
�������$2�+,� PERT $;����ก
.
���ก����34������6���
ก�#� ��"#
���ก��>;3�4��0������ก?.��.�����	�1#�ก��
�6�ก�$ก���4/� ���� 
���ก���
I����$
� 0��� CPM �
*� 
��	���3�����ก�$ก���$2�+,���	���3����#� >;3��6���-4/�
$�ก1�#��	��3����6���ก�#� ���� #
 ��ก���6����1#����� �
	2+�2��� #
 ��ก���6����1#����"3#�$
ก� �+,� �� CPM 

$;����ก
.
���ก����3����6���ก�#� >;3��������6���8�	�� 
���� ���ก�#0���� ��*�0���+�2ก#.���"3#�$
ก�ก	ก���ก= � 
0���+�2ก#.���"3#���#�ก�3�4�� [1]      
1.2 ������	���")��*
��ก����
�	����	�� 

ก��0����1������ (network) 
 1������ (network) �"# �!�������"#4/#2�ก����3
�1���1;*����ก�$ก��� ���H ��3 �#��6���
���ก�� 
/�
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�0/����	2�#��/ก�$ก�����
���ก���	2	6�/
.ก��
�6����1#�ก�$ก�����"#�����#�H  ��	6�/
.ก�#��	
�1#�
ก�$ก��� �6����4/������3�
/�$���3�1;*� ก��0����1�������� 2 
�.. �"# 

1. ก�$ก���.�$9/��"3#��.. activity on arrow 
(AOA) �+,�ก���1���1������
/�����0����"3#� arrow 
���ก�$ก��� 
/���0
8	
ก=-:��3���/
���* 
  ��� $9/��"3#� �#ก
. node �0/��;��� 9ก��-:
���3� ����"#0�*�09/1#�ก�$ก���>;3���ก	�$2�� 
��	1ก6�ก
. 

/����3�$�ก�	1��#�#������>���1#�1������ �	2�	1��ก#���
���1��1#�1������ 
    ��� ก�$ก�����3 �#��6� 
/����
�	�ก5��0/��;�
ก��0�*�09/1#�ก�$ก����
*�H   ก�$ก��� 1 ก�$ก���$2�1���
���/���	�ก5� 1 #
� >;3��
ก�+,��0�� ��  
    �0�� ����3��"3#��2�����$9/��"3#��0/�

�;�ก�$ก���  >;3�0����� 
*��"3#��� A ����	�����ก
. 5  0���
�����	1 1 �	2 2 �����;��	1ก6�ก
. node 06���
.1#�
ก�$ก��� A  
                   �0��+�2��3 ��"3#��2��� ��$9/ ��"3#� 
�0/��;�ก�$ก���0�� � (dummy activity) �"#�+,�
ก�$ก�����34���� 
� �$���H ��
���ก�� � ��6����0���
1��������"3#������ก���0/�1
*� #�ก��/6��������1#�
ก�$ก���.��ก�$ก��������ก �#� ��ก
.�����+,�$���0���
�����	1 1 �	2 2 �����;��	1ก6�ก
. node 

2. ก�$ก���.�$9/��"3#��.. activity on node 

(AON) �+,�ก�� �1���1� �����
/����$9/ ��"3 #����
ก�$ก��� ��0
8	
ก=-: ���H /
���*  

$9/��"3#� �0/�ก�$ก��� A $9/��"3#� 
#�$�����+0�3��	�3�� ��"#��ก	�ก?4/� 
                     �0�� ����3 ��"3#��2�����$9/��"3#�
�0/�����0
��
�<:1#�ก�$ก�����"#	6�/
.ก���6���� ���� 
 �� 
�#������"3#�6�ก�$ก��� A �0�?$�	��$;��6�ก�$ก��� B 
4/� #����4�ก? �� ���$2���ก���1���1�������..��3  2 
��"3#�$�ก�1���4/�����ก��� �	2�
�4��$6��+,� �#�������
0�� ��1��������/��� �	2$2�����+0�3��	�3���+,�$9/��"3#�

��"3#�$�ก�0/�1�#��	4/���กก��� (.����
*� �#��0��2�2��	�
	�4+/���) 
�� ก��ก����)������	�� ��/
���* 

1. $9/���3� ����"#�� 9ก��-:���3� ��1#�
���1������ 
 �#�������� 1 $9/ �	2$9/0�*�09/
���1������ �#��������$9/
�/�����"#�� 9ก��-:�/��������
*� 

2. �����1���1������4+�������#� ก	����"# 
$9/���3� ��1#�
���ก��#������>����"# �	2$9/0�*�09/1#�

���ก��#������1���"# (4�������1���$�ก.�	�	���) 

3. ��ก���1���
���1��������"#!
�	�ก5�$2 �#�
�6��;��;�0�3� �#4+��* 

3.1 1-2��3ก6�	
��1��������*#��� ������/ �#��6�ก�#�
.��� 

3.2 1-2��3ก6�	
��1��������*#��� ������/ �#��6�
�	
�$�ก�����*.��� 

3.3 1-2��3ก6�	
��1��������*#��� ������/ �#��6�4+
���#�H ก
.�����*.��� 

4. �������	�ก�	�3��	�ก5� 
/ก
� [1] 
1.3 � �,-%���	�.��	ก����� � 

1. ��"3#0����1������ก�$ก�����ก�2.��ก��!	� 
���"3#���#�ก�3�4�� 

2. ��"3#��1������ก�$ก���1��������3����20��	2/�
��309/��ก�2.��ก��!	� ���"3#���#�ก�3�4�� 
1.4 ���0ก���")��ก)���ก �	����� � 
 ก�����1��������"3#�6�ก��������2�:
���ก��
/��6�
ก�����0�����������กD >;3��6�����"3#�6�ก��+�
.+�9�

� �� ก� � ��� �� � �2 0� � 	2 /���3 09/  $� กก � �06 �� �$
���-ก�����3�ก�3��1�#� /
����� Frank [3] 4/�5;ก=�1������
�..09��1#� Markov �"#��+�..06���
.�#� �#ก��
ก�2$���������$2�+,�
/� 
��+�09��0�������3$2
+�2�9ก :�2�����ก����"3#�ก
.0�����;3�1#� node �
*�H 
��+�..$6�	#���*�+,���+�..$6�	#���34�� �#��0/�
/�
��+���0#/�	�#�ก
.1������1#� Bayesian 0��� 
Lazega [4] 4/��0�# 1�������..09��1#� Markov ��ก��
1���1����������+�..$6�	#�� �	2���/ �9��$6�	#�

A 

B A 

1 2 

A5 
1 2 
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+�2ก#./����9��$6�	#��.. Hierarchical 0��� T Zhao 
�	2 C-L Tseng [5] 4/�5;ก=�ก��.
��;กก�$ก���	#� 
�
��1������ก�$ก���.�	�ก5� �.����� ������	�1#�

���ก�� ����	�	#� 
�#�0�206���
.���/���ก�$ก��� 
ก��	#� 
�1#� ������	�1#�ก�$ก�������#ก��
!	ก�2�. �#ก�$ก���0�����#� ��	6�/
. 06���
. 
�#����
1������ก�$ก���.�	�ก5� activity-on-arrow (AOA)  
/
����� Erik Demeulemeester, Mario Vanhoucke, 
�	2 Will y Herroelen [6] 4/�5;ก=�ก��ก6����/1������
�..09��06���
.1������ก�$ก���.� node: RanGen  
ก��ก6����/1������ก�$ก���.� node �	21�#��	��3����ก
�
06���
.����� ก ���1#�	6�/
.�
*�
/�+78�� ������	�
�	
ก1#�
���ก�� �
 �9+�20��:�"# ก��0����1�������..
09�� �
*���* ��"3#+�
.���������ก��������������� #�:��
��.�9� 
�#����1#�+78�� ���������� #�:�
*�0#���3��
����0
��
�<:�+,��..1��������+�����1��-� �	2
��	����3����3������0
��
�<:ก
.���������� #�:�"#ก��
/6�������� ก��ก6����/1������#�$�.ก
.����	����	���3
�ก�/$�ก1������ก�$ก���ก�#����� ��"3#�$�ก1������ก��
$��������1#.�1 ��3ก�� ��06���
.����� ก ���1#�
���������� #�:>;3�#�$$2��ก���0/�ก���6��������
�+,�4+4/�06���
.+78������� ก ��� ������	��	
ก1#�
���������� #�:��
���ก�� .��0���1#�1������#�$��ก��
/6����������ก��ก6����/1������ก�#�������"##�$$24����
ก?�+,�4+4/� $2��?�4/����ก���6�������1��������.�����

���ก��$;�������$6��+,� �#ก�2.��ก��!	�  ก���6�
������1����������.�9�
���ก��0��������.+78��
1#�0������� network ก��!	�  ������$2ก6���/��	����
09/ �	2��?�09/ ��"3#�/ >;3�0������������+�2��
/��	���
ก��!	�  �.+�2��-  	#/$�ก�����$������ �9�����ก
.ก��
	��9���ก�$ก���
*�H ก��.�����
���ก��������5�ก���
 �#���$��-� 4 m ���� �� (man) ���"3#�$
ก� (machine) 
�
0/9 (material) �	2��<�ก���6���� (method) �#ก$�ก��*
�	�� �#��6��;��;�������$�����3�ก�/1;*� �����0�3�� �	2�9-���
1#�
���ก��  	#/$��2�2��	���ก��.�����
���ก��

��"#ก��##ก�..��ก��0����
���ก����"3#���.��	9
�+Z����� ����34/�����!�4�� [2] 
 

2.  ��1)
������ก����� � 
2.1 23ก4��������)�
��	*�5�����%��ก��������	����ก��	��
 
 5;ก=����	2�#��/�
0/9 #9+ก�-:���"3#��"#��3�����ก��
!	� ���"3#���#�ก�3�4�� �	2�.������-ก�����3�ก�3��1�#�
ก
.ก��0����1������ 0���ก�����<�ก��!	� ���"3#���#�ก�3�4��
���3� ����3ก�$ก��� A ก	����"#0�����	2+�2ก#.�!��
+�2�#�/���1����
*�0#�>;3��+,�B���	
ก
/������	�
/6��������+�2��- 5 �
� �+,�ก�$ก������3� ��1#�ก��
0����1������0������	2�#��/1#�� �	2ก�$ก����	2
$6�����
��6�ก��!	�  �	2+�2ก#. �0/�/
� ������3 1 

2.2 ��1)ก����� � 
 �	
 �$�ก5;ก=����	2�#� �/  �
0/9  #9+ก�-:�	2
���"3#�$
ก���3�����ก��!	� �	2+�2ก#. �6�ก��������2�:
1��������"3#�0/�����0
��
�<:1#�ก�$ก��� ���H 
����.��#��	�� 1
*� #� �#4+$2�+,�ก��������2�:1��������3
0����1;*� ��"3#���0�������กD � (critical path) >;3�
+�2ก#./������ ���H ��3������06��
8 ��"# ก�$ก���
��กD � (critical activity) >;3��
.�+,������3ก6���/�	2
��.�9�ก���	���0�?$1#�
���ก�� ��"3#�$�ก��ก���
��	����*	�����4+$2�6����
���ก���0�?$���4+/��� 0���
ก�$ก�����34����กD � (non-critical activity) �+,������3
#�$	�����ก�����3ก6���/4��4/���������	���;3�
/�4��
ก�2�.ก�2��"#� �#��	��0�?$0�*�
���ก�� �0�������กD �
��*$2�+,��0�������3���2�2��	���������309/1#�
���ก�� 
>;3��2�2��	�ก��/6� ����1#��0�������กD �  ����ก�� � 
�2�2��	���กD � (critical time) [2-3] 
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����	")� 1  ��*�0���+�2ก#.���"3#���#�ก�3�4�� 
	6�/
.��3 ก�$ก��� ���	2�#��/ ก�$ก���

ก�#����� 
��	�
��� 
(�
�) 

1 A �!��/���1����
*�0#� - 5 

2 B �!��ก	�� A 2 

3 C �ก���	� B 1 

4 D �9/��#��.4�� C 3 

5 E �9/ �ก�3�4�� C 2 

6 F �!��+�2�#��9/ �ก�3�4�� C 1 

7 G 
�����	?ก+�2�#�.� D,E,F 3 

8 H 
�����	?ก+�2�#�ก	�� G 1 

9 I 
�����	?ก+�2�#�	��� H 2 

10 J  2�ก���#� I 2 

11 K +�2ก#.�9/�
*�0#� G,J 3 

12 L +�2ก#.�.��3� J 2 

13 M +�2ก#.�9/�. � J,K 3 

14 N +�2ก#.
���ก	�� M 4 

15 O +�2ก#.
���	��� M 5 

16 P +�2ก#.�!��ก
*�ก	�� M 5 

17 Q +�2ก#.�!��ก
*�
/���1��� 

M 4 

18 R  �/ 
*� pulley �	2 belts N,O,P,Q 2 

19 S +�2ก#.�9/�0��.4�� R 3 

20 T +�2ก#.�!��ก
*� 
/�������-�	
� 

S 2 

21 U +�2ก#.�9/���	� 
�5=�.4�� 

S 1 

22 V +�2ก#. 
��#�B��
���"3#� 

T,U 2 

23 W +�2ก#.B���#� #�: V 2 

24 X  �/ 
*��#� #�:�	2�9/
��.�9� 

W 1 

 
2.2.1 ก�������0����
�"�	��ก6�� (critical path)  
 ก������	���?���309/ �����309/�	2��	�	�����1#�
ก�$ก����
*�H ��4/�/
���* 
ES =  ��	���?���309/��3$2���3� ��1#�ก�$ก��� 
EF =  ��	��0�?$0�*�#������?���309/1#�� �	2ก�$ก��� 
duration = �����2�2��	�1#�ก�$ก��� [1-2] 

��"3#        EF = ES + duration    (1) 
 ������	��ก�$ก����	"#ก��� ES 1#�ก�$ก����
*�
����ก
. EF ��30����309/1#�ก�$ก��� ���H ��3 �#��6��0�?$ 

 LS = ��	������309/��3$2���3� ��ก�$ก����
*�H 
/�4��
�6������	�1#�
���ก���+	�3��4+  
 LF = ��	��0�?$0�*�#���������309/1#�� �	2ก�$ก��� 

/�4���6������	�1#�
���ก���+	�3��4+ 
 ก���6���-����	� LS �	2 LF �6���-���3�$�ก
$9/0�*�09/
���ก����#�ก	
.4+�
�$9/���3� ��
���ก�� 
/�
ก6���/��������3$9/0�*�09/1#�
���ก������� LF ����ก
.
�2�2��	���ก���6�
���ก�� ��"# EF = LF �	20�����
�6���-ก6���/��	����3� ��#���������309/4/�$�ก0� � [1-2] 

LS = LF – duration                           (2) 
 

ก���6���-����	���3��	"#��"#��	���3�"/��9��4/� 
(slack time) ��	���3��	"# ��"#��	���3�"/��9��4/� (slack: 

SL) �"# $6������	���3��� ���H $2	�����4/� 
/�4��ก�2�.
ก6���/��	��0�?$0�*�1#�
���ก�� ��0� ���ก���� /
���* 

SL  =  LS – ES , SL  =  LF – EF                   (3) 
 

 �6���-���������$2�+,���3
���ก��$2�	���0�?$ 
2.2.2 ก�������0������		��  

ก���6���-��	���3��/��
�4��1#�����	2��	���3
��/��
�4��06���
.1�������
*���/��4/�$�ก [1-2] 

 

6

4
)(exp

bma
tvalueected e

++
=          (4) 

��"3# a = �����/��
���	������/� (optimistic time 

estimate)  

m = �����/��
���3���$2�ก�/1;*���ก��309/ (most likely 
time estimate)  

b = �����/��
���3�#���������� (pessimistic time 

estimate) [1-2] 
ก��+�2��-����.�3���.��� �B��1#���	�ก�$ก���

��4/�$�ก 
2

2

6







 −
=

ab
σ          (5) 

 


#ก�0�������$2�+,���3
���ก��$2�	���0�?$1#�
��	�ก�$ก����
*�H �"#�����+�+����..09����3�0/��+,�
�
�06��
81#���	��0�?$0�*�06���
.
���ก���+,�����
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�+�+����..09��/�������ก
�  ��	�1#�ก�$ก����
*��"#
5
ก���������+�+�������	��0�?$0�*��
*���/ [2]  
�����+�+���1#���	���3 �0�?$0�*�1#�
���ก�� σ2  
0#/�	�#�ก
.0�ก����3 5 /
��
*������/��
���	�$2�	��
�0�?$1#�
���ก�� µp   4/���$�ก�����+�+���1#���	�
�	���0�?$ σp   ��4/�$�ก [2] 

µp   max (EF) =max(LF)              (6) 
 

 ก���$ก�$��������$2�+,��..�. ��+�2ก#./������
 36�09/�	2���0��09/�	2���������
�1#�
���ก����3��/���
$2�	���0�?$1#�ก�$ก��� �0/������ ก ���ก���$ก�$�
�������$2�+,��..+ก �ก
.	6�/
.��34����1#.�1 1#����
�/H  ก���$ก�$��������$2�+,��..�. ��0��������ก
.
���/ ���H1#���+�..1#�1�#��	 ���/1#�ก���$ก�$�
�������$2�+,��..�. ���0/�/
���+��3 1 >;3��0/�
#ก�0
�������$2�+,���3
���ก��$2�	���0�?$ 
 
 
 
 
 
 
 
 
 
 
 

 

�7%")� 1 ก���$ก�$��������$2�+,��..�. �� 
 

 �����+�+�������	���3�	���0�?$1#�
���ก����4/�
$�ก 
 

   
pathcriticaltheinactivitiesthefor

durationtheofiancetheofsum
p

var
=σ  (7) 

 

3.  ��ก����� �     

 ก���6���-$�ก��� ������3 1 4/�����0/�/
� ������3 2 

/���3ก�$ก��� A ���3� ���6�4/��
��� /
��
*���� ES 1#�
ก�$ก��� A = 0 �6���-ก6���/��	��0�?$#������?���309/

1#�ก�$ก��� A 4/� EF = 0 + 5  = 5 �
� ก���6���-
ก�$ก��� X �+,�ก�$ก���09/����1#�
���ก�� /
��
*�     

��� LF 1#�ก�$ก��� X ���������ก
. 45 ก�$ก��� X �����	�
/6�������� 1 �
� �6���-��� LS 1#�ก�$ก��� X = 45 - 1 
= 44  �	2ก���6���-��� slack ����ก�$ก��� A=LF=EF 

= 5-5 = 0 �
� ก���6���-ก�$ก��� G  �#$�กก�$ก����� 3 
ก�$ก��� �"# D, E, F �	"#ก�����ก09/4/� �"# D = 13 (EF) 

����2G2�
*� ��� EF=ES+D = 13+3 =6 �
� ��� K  �#$�ก 
G, J �	"#ก�����ก09/4/�����ก
.��� EF 1#� J (22) /
��
*���� 
EF=ES+D = 22+3 = 25 �
� ��� M  �#$�ก K, L �	"#ก���
��ก09/4/� �"# K = 25 (EF) ����2G2�
*� ��� EF=ES+D 

= 25+3 =28 �
� ��� R  �#$�ก N, O, P, Q �	"#ก�����ก09/
4/� �"# O, P = 33 (EF) ����2G2�
*� ��� EF=ES+D= 
33+2=35 �
 �  �	2 0��� �� � ��3 �� 	"#� �ก ��� ��� � 
ES,EF,LS,LF �	2 slack �0/�/
� ������3 2 ��+��3 2 
�	2 3 0��� ������3 3 ��	���/��
�1#�ก�$ก����	2����
�+�+���06���
.
���ก����*  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

�7%")� 2 ก�$ก���.�	�ก5�1#�ก��!	� ���"3#���#�ก�3�4�� 
  

 

a m b 

1

1 

3 
2 

4 

9 

5 7 

6 8 

11

1 1
1

1

1

1
2

2

2

2

1

2
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����	")� 2  �����34/�$�กก���6���- 
	6�/
.

��3 
ก�$ก��� ก�$ก���

ก�#����� 
��	�
��� 
(�
�) 

ES EF LS LF SL 

1 A - 5 0 5 0 5 0 
2 B A 2 5 7 6 8 1 
3 C B 1 8 9 8 9 0 
4 D C 3 10 13 10 13 0 
5 E C 2 10 12 11 13 1 
6 F C 1 10 11 12 13 2 
7 G D,E,F 3 13 16 13 16 0 
8 H G 1 16 17 17 18 1 
9 I H 2 18 20 18 20 0 
10 J I 2 20 22 20 22 0 
11 K G,J 3 22 25 22 25 0 
12 L J 2 22 24 23 25 1 
13 M K,L 3 25 28 25 28 0 
14 N M 4 28 32 29 33 1 
15 O M 5 28 33 28 33 0 
16 P M 5 28 33 28 33 0 
17 Q M 4 28 32 29 33 1 
18 R N,O,P,Q 2 33 35 33 35 0 
19 S R 3 35 38 35 38 0 
20 T S 2 38 40 38 40 0 
21 U S 1 38 39 39 40 1 
22 V T,U 2 40 42 40 42 0 
23 W V 2 42 44 42 44 0 
24 X W 1 44 45 44 45 0 

 
�����+�+�������	���3�	���0�?$1#�
���ก�� ��

4/�$�ก�0�������กD 1#�
���ก�� 

�0�������กD 1#�ก��0����1� �����ก�$ก���
ก�2.��ก��!	� �����"3#���#�ก�3�4���"# 

 

A→B→C→D→G→H→I→J→K→M→N→O
→R→S→T→U→V→W→X    
 
  ��������1#�ก�$ก��� ���	2�#��/�	2ก���� ES, 
EF, LS, LF �	2��� SL �0/�/
���+��3 3 

 
 
 
 
 
 
 

�7%")� 3 node diagram 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

�7%")� 4 ก�$ก���.� node 1#�ก��!	� ���"3#���#�ก�3�4�� 
 

$�ก1�#��	 ������3  3 ����.�3���.��� �B��1#�

���ก���"# 

10 D 13 

0 ���	2�#��/ 

10 3 13 

10 F 11 

1 ���	2�#��/ 

12 1 13 

13 G 16 

0 ���	2�#��/ 

13 3 16 

10 E 12 

0 ���	2�#��/ 

11 2 13 

16 H 17 

1 ���	2�#��/ 

17 1 18 

18 I 20 

0 ���	2�#��/ 

18 2 20 

20 J 22 

0 ���	2�#��/ 

20 2 22 

22 L 24 

1 ���	2�#��/ 

23 2 25 

25 M 28 

0 ���	2�#��/ 

25 3 28 

28 N 32 

1 ���	2�#��/ 

29 4 33 

22 K 25 

0 ���	2�#��/ 

22 3 25 

28 P 33 

0 ���	2�#��/ 

28 5 33 

28 O 33 

0 ���	2�#��/ 

28 5 33 
28 Q 32 

1 ���	2�#��/ 

29 4 33 33 R 35 

0 ���	2�#��/ 

33 2 35 
35 S 38 

0 ���	2�#��/ 

35 3 38 
38 T 40 

0 ���	2�#��/ 

38 2 40 

38 U 39 

0 ���	2�#��/ 

39 1 40 

40 V 42 

0 ���	2�#��/ 

40 2 42 

42 W 44 

0 ���	2�#��/ 
 

42 2 44 

44 X 45 

0 ���	2�#��/ 

44 1 45 

0 A 5 

0 ���	2�#��/ 

0 5 5 

5 B 7 

1 ���	2�#��/ 

6 2 8 

8 C 9 

0 ���	2�#��/ 

8 1 9 

���	2�#��/ 

��	���� 

ก�$ก��� 

ES  EF 

SL  

LS  LF 
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)var(

)var()var()var()var()var()var(

)var()var()var()var()var()var(

)var()var()var()var()var()var(

X

WVUTSR

ONMKJI

HGDCBA

p

+

++++++

++++++

+++++

=σ

�������- 
var (A, B, .., X) = variance (�����+�+���1#�
ก�$ก��� A, B, .., X) 
 

111.0111.0111.0111.0111.0

111.0111.0111.0444.0444.0111.0111.0

250.0250.0250.0111.0111.0250.0250.0

+++++

+++++++

++++++

=pσ

 

863.147.3 ==pσ  

 

����	")� 3  ���������/��
���3�6���-4/� 
act a m b te σ2 
A 5 6 8 6.167 0.250 
B 2 3 5 3.167 0.250 
C 1 2 3 2.000 0.111 
D 3 4 5 4.000 0.111 
E 2 3 6 3.333 0.444 
F 1 3 5 3.000 0.444 
G 3 4 6 4.167 0.250 
H 1 2 4 2.167 0.250 
I 2 3 5 3.167 0.250 
J 2 3 4 3.000 0.111 
K 3 4 5 4.000 0.111 
L 2 4 6 4.000 0.444 
M 3 5 7 5.000 0.444 
N 4 6 8 6.000 0.444 
O 5 5 7 5.333 0.111 
P 5 7 9 7.000 0.444 
Q 4 6 8 6.000 0.444 
R 2 3 4 3.000 0.111 
S 3 4 5 4.000 0.111 
T 2 3 4 3.000 0.111 
U 1 2 3 2.000 0.111 
V 2 3 4 3.000 0.111 
W 2 3 4 3.000 0.111 
X 1 2 3 2.000 0.111 

 

���ก����*$2�	���0�?$����� 50 �
� /
��
*�
#ก�0��3


���ก��$2�6��0�?$��4/�$�ก 

               

p

pX
z

σ

µ−
=                         (8) 

X  �"# ��	���3 �#�ก�����
���ก���	���0�?$ 

 

/
��
*�ก���$ก�$��������$2�+,��..+ก �$2����ก
.  

68.2
863.1

4550
=

−
=z  

 

 �+k/ ������� Z = 0.9963 �������$2�+,���3
���ก��
$2�	���0�?$���
���3 50 ����ก
. 99.63% ��"#�"*���3����
���$2�+,���3
���ก��$2�	���0�?$�0/�/
���+��3 5 

 
 
 
 
 
 
 
 
 
 

 

�7%")� 5 �"*���3�������$2�+,���3
���ก��$2�	���0�?$ 

 

3.1 ก����������%��ก����	������	����ก��	��
")��

��กก��

��
�	����	��'����
�"�	��ก6� 
��ก��!	� 0���+�2ก#.1#����"3#���#�ก�3�4����34/�

$�กก���6���-�	21
*� #�ก��!	� �0/�/
� ������3 2 
�	2�0/�/
���+��3 4 >;3���0���+�2ก#.�	2���	2�#��/
��#�1�����ก .����
*�ก�$ก�����3ก6���/��  ������3 1 �	2
4/�!		
�<: ������3 2 � �	2ก�$ก��� �#���ก�� merge ก
�
.��� � �	2ก�$ก�����3�6��0�?$ก�#�$6��+,� �#��#ก�$ก���
�
/4+ .��ก�$ก�����ก��1���1
*� #�1#�ก�$ก��� 
����2�����������	���3�6�ก��!	� 4���+,�4+ ���!�

���ก����3���4�� ก	����"# ���"3#�$
ก��	2#9+ก�-:��3�����
ก��!	�  ��$6����!�������ก ����2����+,����"3#�$
ก��	2
#9+ก�-:1#�0���5;ก=� ��ก��5;ก=���$
���*ก6���/�����	�
��ก09/����ก
. 50 �
� �0�������กD ��"#��	�	#� 
�#�0�2
��34/�����ก
. 45 �
�  
 /
��
*� �0�������กD 06���
.ก��0����1������
ก�$ก���ก�2.��ก��!	� ���"3#���#�ก�3�4�����������ก
. 

 

A→B→C→D→G→H→I→J→K→M→N→O
→R→S→T→U→V→W→X    

 

45 50 

�"*���3�������$2

�+,� = 0.9963 
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ก��+�2��-��������2�2��	�1#�
���ก�� =   45  �
� 
 �	2�����+�+�������	���3�	���0�?$1#�
���ก�� 
��4/�$�ก�0�������<���กD 1#�
���ก���0/�/
� ������3 2 
�"#���  ES, EF, LS, LF �	2��� SL ��34/�$�กก���6���- 
�	2���������/��
���34/��0/�/
� ������3 3  
 ����2G2�
*�����������$2�+,�1#�
���ก���"# 50 

�
� ���������ก
. 99.63% ����.�3���.��� �B��1#�
���ก��
����ก
. 1.863   
 

4.  ��-%��ก����� � 
 ก��.�����
���ก��
/����1������ก�$ก�����

��.�9�ก�2.��ก��!	� �����"3#���#�ก�3�4�� �6�������.
!	/6���������+,�4+ ���!������3���4�� ��1
*� #���
ก���6�� �	2ก�$ก��� (.��������	�1#�� �	2ก�$ก���4��
�+,�4+ ���!����) >;3�� �	2ก�$ก�����"3#�
��0
��
�<:
ก�$ก����
*���/ 
/������	���#���ก��0�������"3#� 
�+Z�����1#�
���ก��4���ก�� 50 �
� ��
���ก����*
0������6����4/�+�2��- 45 �
� �������$2�+,���3

���ก��$2�	���0�?$�� 50 �
� ����ก
. 99.63% ���
�.�3���.��� �B��1#�
���ก��#�����3 1.863 0���1
*� #�
+�2ก#.� �	2��*�0����1��/���ก
��������9����ก$6��+,� �#�
#�5
��
ก5;ก=���3��+�20.ก��-: �	2�����6���8��ก��
������"3#�$
ก��	2#9+ก�-:��
���ก����* ก�����1��������
������2�: �6����0���������	/ ���9�ก��!	�  	/1#��0�� 
(1#��0������#�) �����	���ก��!	� ��#�	� �	24/����"3#���3
���9-�������.�����ก
.ก	9��#9 0��ก�����3�6�ก��!	� ��
������-���: 

5.  �
�����'�� 
ก��.�����
���ก��
/�ก��0����1������ก�$ก���

ก�2.��ก��!	� �����"3#���#�ก�3�4�������	���ก��!	� �	2
+�2ก#. 45 �
� >;3�0���������
���ก��4/�� � �#���������$���
��ก��!	�  ����#�$�6����	�����	� ��"##�$$6��+,� �#����3�
��
ก��� (�
ก5;ก=�) �6����0����������	�4/���#�	�ก����/�� 
� ����3�������$��� �+,� �� 
 ก������
���ก��0������6�4/��
���� � �#��0��������
���3�/
���3ก	�����1��� �� �6����	/��	���ก��!	� ��#�	�
ก����/�� � �����+,�#9 0��ก���ก��!	�  ���$2����
���ก��
/�ก��� �������$
���*�+,�ก��0�������"3#���"3#�/0#.
/����ก��
����!�
���ก��1������ก�$ก��� /
��
*��2�2��	�1#�

���ก�� 45 �
� �����	���#�06���
.ก��0�����	2+�2ก#.
���"3#� �	2���� �#�1#�
���ก������	���0�?$��3 50 �
�  
(�+Z�����1#�
���ก��) 0������������4/�4���ก�� 5 �
�
ก�$ก�����3����4/��"# ก�$ก��� G  ����4/� 2 �
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